

$$\Lambda \cos u - \tan u = 1 \rightarrow \Lambda \cos u = \tan u + 1 = \frac{1}{\cos u}$$

$$\rightarrow \Lambda \cos^2 u = 1 \rightarrow \cos u = \frac{1}{\Lambda} \rightarrow \cos u = \frac{1}{\Lambda} \rightarrow u = \arccos \frac{1}{\Lambda}$$

$BD = [0, \frac{\pi}{\Lambda}]$ در این بازه $\frac{\pi}{\Lambda}$ $\frac{\pi}{\Lambda}$ در این بازه

$$\sin u + \cos u = -1 \rightarrow \sin u + \cos u + 1 = 0$$

$$\sin u + \cos u = -1 \rightarrow \sin u = -1 - \cos u$$

$$u = k\pi \rightarrow \sin u = 0 \rightarrow \cos u = -1 \rightarrow u = \pi$$

$$u = \frac{\pi}{2} + k\pi \rightarrow \sin u = \pm 1 \rightarrow \cos u = 0 \rightarrow u = \frac{\pi}{2}, \frac{3\pi}{2}$$

در این بازه $\frac{\pi}{\Lambda}$ $\frac{\pi}{\Lambda}$ در این بازه

$$\sin u \cos u + \sin u = 1 \rightarrow \sin u (\cos u + 1) = 1$$

$$\sin u (\cos u - 1 + \cos u + 1) = 1 \rightarrow \sin u (2 \cos u) = 1$$

$$\sin u \cos u = \frac{1}{2} \rightarrow \sin 2u = 1 \rightarrow 2u = \frac{\pi}{2} + 2k\pi \rightarrow u = \frac{\pi}{4} + k\pi$$

در این بازه $\frac{\pi}{\Lambda}$ $\frac{\pi}{\Lambda}$ در این بازه

$$\frac{1}{\sin(\frac{\pi}{\Lambda} + u)} = -\frac{1}{\cos(\frac{\pi}{\Lambda} + u)} \rightarrow \sin(\frac{\pi}{\Lambda} + u) = -\cos(\frac{\pi}{\Lambda} + u)$$

$$\sin(\frac{\pi}{\Lambda} + u) = -\cos(\frac{\pi}{\Lambda} + u) \rightarrow \sin(\frac{\pi}{\Lambda} + u) = \sin(\frac{\pi}{2} - (\frac{\pi}{\Lambda} + u))$$

$$\frac{\pi}{\Lambda} + u = \frac{\pi}{2} - (\frac{\pi}{\Lambda} + u) \rightarrow \frac{\pi}{\Lambda} + u = \frac{\pi}{2} - \frac{\pi}{\Lambda} - u \rightarrow 2u = \frac{\pi}{2} - \frac{2\pi}{\Lambda} \rightarrow u = \frac{\pi}{4} - \frac{\pi}{\Lambda}$$

در این بازه $\frac{\pi}{\Lambda}$ $\frac{\pi}{\Lambda}$ در این بازه

$$\sin\left(4\pi \frac{a}{r}\right)$$

$$\sin\left(4\pi \frac{a}{r}\right) \cos\left(4\pi \frac{a}{r}\right) = 1 \rightarrow \sin\left(4\pi \frac{a}{r}\right) = 1$$

$$\begin{aligned} \sin\left(4\pi \frac{a}{r}\right) &= 1 \rightarrow \text{Diagram 1} \rightarrow a + \frac{a}{r} = r k a + \frac{a}{r} \rightarrow \text{Diagram 2} \rightarrow \frac{a}{r} + r k a = \frac{a}{r} \\ \sin\left(4\pi \frac{a}{r}\right) &= -1 \rightarrow \text{Diagram 3} \rightarrow a + \frac{a}{r} = r k a - \frac{a}{r} \rightarrow \text{Diagram 4} \rightarrow \frac{a}{r} + r k a = -\frac{a}{r} \end{aligned}$$

$$\sin u = \sqrt{r} \cos u = \sqrt{r} \quad \frac{a}{|a|} \sqrt{a^2 b^2} \sin(u + \alpha)$$

$$\begin{aligned} &\text{Diagram 5} \rightarrow r \sin(x + \alpha) \rightarrow r \sin\left(u + \frac{a}{r}\right) = \frac{r}{r} \rightarrow \tan \alpha = \frac{b}{a} \\ &\tan(x + \alpha) = \frac{a}{r} \end{aligned}$$

$$\begin{aligned} \rightarrow u + \frac{a}{r} &= r k a + \frac{a}{r} \rightarrow u = r k a + \frac{a}{r} - \frac{a}{r} \rightarrow \frac{a}{r} - \frac{a}{r} = r k a + \frac{a}{r} - \frac{a}{r} \\ \rightarrow u + \frac{a}{r} &= r k a + \frac{a}{r} - \frac{a}{r} \rightarrow u = r k a + \frac{a}{r} - \frac{a}{r} \rightarrow \frac{a}{r} - \frac{a}{r} = r k a + \frac{a}{r} - \frac{a}{r} \end{aligned}$$

$$\begin{aligned} \sin x \sin\left(\frac{r a}{r} - u\right) &= 1 \rightarrow -\sin x \cos u = 1 \rightarrow -\sin x = 1 \\ &= -\cos u \end{aligned}$$

$$\begin{aligned} \rightarrow \sin x &= -\frac{1}{r} = \sin\left(-\frac{a}{r}\right) \rightarrow r u = r k a - \frac{a}{r} \rightarrow (x = k a - \frac{a}{r}) \\ \text{Diagram 6} \rightarrow \frac{a}{r} - \frac{a}{r} &= r k a - \frac{a}{r} \rightarrow r u = r k a + \frac{a}{r} + \frac{a}{r} = r k a + \frac{2a}{r} \rightarrow u = k a + \frac{2a}{r} \end{aligned}$$

$$\begin{aligned} \text{Diagram 7} \rightarrow \frac{a}{r} + \frac{a}{r} &= r k a + \frac{2a}{r} \rightarrow \frac{2a}{r} = r k a + \frac{2a}{r} \\ \text{Diagram 8} \rightarrow \frac{a}{r} + \frac{a}{r} &= r k a + \frac{2a}{r} \rightarrow \frac{2a}{r} = r k a + \frac{2a}{r} \end{aligned}$$

$$(1 + \cos(x)) (1 + \cos(y)) (1 + \cos(z)) = \frac{1}{n}$$

$$\begin{aligned} \rightarrow (\cos^2 x) (\cos^2 y) (\cos^2 z) &= \frac{1}{n^2} \rightarrow \frac{(\sin^2 x \cos^2 x) (\cos^2 y) (\cos^2 z)}{\sin^2 x} = \frac{1}{n^2} \\ \frac{(\sin^2 x \cos^2 x) (\cos^2 y)}{\sin^2 x} &= \frac{1}{n^2} \rightarrow \frac{1}{n} \frac{\sin^2 x}{\sin^2 x} = \frac{1}{n} = 1 \rightarrow \sin^2 x = \sin^2 x \end{aligned}$$

$$\begin{aligned} \sin x &= \sin y \rightarrow \sin x = \sin y \rightarrow 1 - \cos 2x = 1 - \cos 2y \rightarrow \cos 2x = \cos 2y \\ \sin x &= \sin y \rightarrow \sin x = \sin y \rightarrow \frac{1}{2} \frac{a}{r} = \frac{1}{2} \frac{a}{r} \end{aligned}$$

$$\begin{aligned} \tan(x) \tan(y) &= 1 \rightarrow \tan x = \frac{1}{\tan y} = \tan\left(\frac{a}{r} - y\right) \\ r u = k a + \frac{a}{r} - u &\rightarrow u = k a + \frac{a}{r} \rightarrow \frac{a}{r} + \frac{a}{r} = \frac{2a}{r} \\ \rightarrow \frac{a}{r} + \frac{a}{r} &= \frac{2a}{r} \rightarrow \frac{1}{n} \frac{a}{r} = \frac{1}{n} \frac{a}{r} \end{aligned}$$